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| GENERAL AWARENESS |
The |.|r.-.gr|.:|,: al munupn:rl:,- power 1% v he
mezsired m lerms of the firm’s

(up mormil prolit

b supernormal profil

(g} both nermal and supermnommal profi

iy .-.:llh:y_[ril.'u

Who propounded the Innovation theory of
profits?

(LA Schumpeter

{b) P.A, Samuekson

(c)  Adfred Marshall

{dy Dravidd Ricirdo

on Provided here is only

153,

155.
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far

‘Which of the following does not come under
legislative control over administration”

(&) Zero hour

(b Adjournment motion

{ch Budget session

{d} Formadotion of a Bill

Under perfect competition, the industry does
not have any excess capacity hecause each
firm produces at the minimum poind on its
(a} long-run marginal cost curve

(b} long-run average cost curve

{ch long-run average variable cost curve
{d} long-run average revene curve
Which one of the following is mot a *canon
of taxation’ according o Adam Smith?

(@) Canon certainty

() Canon of simplicity

(ch Canon of convenience

{d) Canon of coonomy

Effective demand depends on

[FY] c:tp'i[;li-l.m[pul ralan

i) i}lllFIllI.-l,.'iIFl.lill Tk

(ch ol expenciture

) supply price

“The I:{l.ghl 10 Public CHce" 15 a

{wp Cival right

b} Eoomomic right

{ch Moral right

{d} Political right

Who was the outhor of Gita Gowvinda?

(ah Javadeva

(b} Kathana

(ch Kalidosa

{d} Fua Rao

referen
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Which banle did open the Delhi area to

Muhamimed Ghori?

(a} First Baitle of Tarain

B Second Bastle of Tarin

ic) Battle of Khanwo

{d} First Batile of Panipat

The Aryans succecies iis their conflicts with

the pre-Aryvans because

(a} they used elephants on a large scale

(b} they were taller and sironger

(c) they were from an advanced urban
culture

{d) they used chariots driven by horses

The Chola kings were ruling over

(a) TamilMadu (b} Andhea

() Kerala i} Bengal

From which fund con the unanticipated

expenditure be met without the prior approval

of the Parlinment?

fa} Consolidated Fund of India

(b} Contingency Fund of Tndia

(c) ite-on- Account

{d} From the Treasury

A Lo mmacle by the Tudiciary 1s known as

(a) Ordinarylaw (bp  Case law

(c) Ruleoflaw ) Adminisirative b

One of the important attributes of

Farliamentary form of government is

() Fizedienure for the execuiive

(b Executive is answerable to the people

fe) Executive is separate from the begislative

{dy Collective responsibility of Council of
Ministers o the Parliament

EMIAL was

() anelecironic caleulalor

() an electronic computer

The Information Provided here is only for reference.
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(c} an memory device

{d} anengine

One byte consists of

() one bit (b four bits
() eight bits (dp ten bits

Which of the following vertebrates luck
exoskeleton

{al  Amphibis

b Mammalian

e} Awves

{d} Chondrichiyes

Which of the following branches deals with
the interaction of same species of living
organisms  with  their  non-living
enviroment?

fu} Autecology

bl Synecology

(e} Ecokopy

) Paleontology

Which of the following organelbes is called
*Atom bombs"

() Microtubules (by
{e) Golgibodies  (d)
In AC circuits. AC meters measure

Nucleolus
Lysosome
{a) mean values (b rms values

(c) peak valees  (dy  mean square values
When a hight wave s reflected froam a mirror,
there 15 a change in i1z

{a} frequency

() wavelength

by amplinde
(d}  velocity
Solur enerpy 15 due 1o

() Fusion reactions

i) fisspom resctions

(C) conbausiion reacions

i} chemical reactions
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The width of depletion loverofa P-N junciion
(g} decreases with light doping

(b} increases with heavy doping

(c) is independent of applied voltage

(d) is increased under reverse bias

Huge deposits of uranium were recently
Found in

{a) Amndhra Pradesh

(b} Karnataka

(c) Kerala

{d}  Tamnil Nadu

. When water itself combines chernically with

some ebement o mincral it is called

(a) Carbonanon (b Desaliation

) Owidation

Froan the bark of which plant 15 guinine
exlracied?

(c) Hydration

{2} Eucalyprus

b Cinchona

il Meer

{dl Cedar

Hypertension is the term wsed tor

{a} incresse in heart roge

(b decrease in hear e

(e} decrease in blood pressure

{d) increase in blood pressure

The contractile proteing in a muoscle are
(g} Actin and Myosin

(k) Actin and Tropomyosin

(c) Myosin and Troponin

{d} Troponin and Tropomyosin
Cowns masde of metal lrst appeared in
{a} Harappan Civilisation

(b Later Vedic Age

The Information Provided here is only
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ich Age of the Buddha

{d) Ape of the Mauryas

Aonatural region hias the simalariny of
[EN]
LT}
[k
{d}
Which one of the tollowing is presently the
largest oal refinery of India?

(a) Wadodara (HOC)

(b Mathura (10C)

(e} Wishakhaparnam (HPCL)

() Mumbai (BPCL)

Imaginary lines joining places with same
tempreratire are cabled

(@) Isobars (b} Isohyers

() Isohalines (dp  lsotherms

Crop rotation helps o

()
ik

climate and natural vegetation
climate and occupation

soil and drainage

economic base anmd reces

lesson use of pestickdes

climinate parasites which hove sekective
hosts

(e}
G

yield more crops

produce a greater choice of plum
products

A aren legally reserved for wild life in its
natural surroundings is

(a) HBiosphere Reserve

(b} Sanctuary

fch Sociul Forest

i} Matinnal Park

Whia as e new Governor of Maharashura?
(2} ShivShankar Menon

{b) K. Sankaranarayanan

(cr B.K. Sinha

{d1 Shivaraj Patil
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